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2. A pen costs $0.59. How much would a dozen pens cost?



3. An orange costs $0.09. How much would 2 dozen oranges cost?
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MULTIPLYING DECIMALS: PUTTING IT ALL TOGETHER

LONG EXAMPLE:

2ax0ast 23-B-35e10 Giagiy 10 moves el pc o he)

01512 2% 5111000 (i 000 mons st 3 plcs o)

THEREFORE, 23x 0051 - 25 x 1 and the easiest way to do this calculaion i:
101000
1.Eind,23x51 (doitbelow): 2 Move the decimal place 1+ 3 plces to
theleft (o divide by 10 and 1000).
1173 becomes 0,1173 which is the
answer!
SHORTEREXAMPLE:  0.0012x42
2 10,0012 has 4 decimal places (compared to 12)
2 42 has 1 decimal place (compared to 42)
1 In total, they have 5 decimal places, so
2420
EZ take 504 and move the decimal 5 places to the left.
ANSWER: 0.00504
Now you try! Find the whole-number product (multiplication), thep adjust it by moving the

decimal place to divide by 10 the appropriate number of times.
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Use the number sentence 123 X 4 = 492 to help you solve the following:
a 123 x4 b. 123 x4 € 0123%4
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d. 0.123 X 40 e. 0.123 X 400 f. 0.123 x 4000
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Find each product.
4. 4359 % 0.1 5. 246 X 001 6. 726 x 0.1

8. 0.19 9. 6.4

10. 240 1. 4379 12. 0.72
X 0.02 X 42 X 043
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3. Anranecosts S0.09. How mch wold 2 dnzen g cot?



